RIMSKI BROJEVI

| = jedan
Il = dva

Il = tri

IV = Cetiri
V = pet

VI = Sest

VIl = sedam

. VIIl = osam
VOJINICE
KOLKO IX = devet
JESATI?
X = deset
X| = jedanaest &
XIl = dvanaest




Rimski brojevi — ponavljanje 01

Dopuni:

VI

VIII.

XI

10

12.

Napisi RIJECIMA koji je to broj:

IX.

Vv

Xl

VII.

IzraCunaj:
VIl + 1l =
XI-1X=
IX+ 1=
IV -—Il=
IV +VI=
VI -1V =
VIl +V=

Xi=1=

Usporedi:

Xl - 2 7+

im + v VIl +0

12 — IX X=VI

OO0




Rimski brojevi — ponavljanje 02

Dopuni:

VI

Vil

XI.

10

12

Napisi RIJECIMA koji je to broj:

X.

V.

Xl

Vi

IzraCunaj:
VIl + 1=
X—-IX=
IX+1V=
IvV-I1=
VI + VI =
VIl -V =
VII+ 11 =

Xl =1=

Usporedi:

Xih- 5 11 +11

V + IV VIl +0

13 - IX X-Vi

OO0
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